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31. A toy rocket is launched from the ground straight upward. The ’
height of the rocket above the ground, in feet, is given by the
equation h{t) = =162 + 64t, where t is the time in seconds.
Determine the domain for this function in the given context.
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29. How many real solutions does the equation x*=2x+5=0

have? Justify your answer. _ : , b %
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6 Michael borrows money from his uncle, who is charging him simple
interest using the formula I = Prt. To figure out what the interest
rate, r, is, Michael rearranges the formula to find r. His new formula

is  equals T =P R
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7 Which equation is equivalent toy — 34 = x(x — 12)? +3‘(>
(1) y = (o= 1T)lx + 2) B) y=(x—=62+2

(2) y=(—-17x-2) @)y =(x— 6)2 — verhex
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8 The equation A = 1300(1.02)7 is being used to calculate the amount
of money in a savings account. What does 1.02 represent in this
equation?

(1)-6:029%-deecay—
(2) 0.02% growth
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9 The zeros of the function flx) = 24% — 4x — 6are X Y

(1) 3and -1 (3) —3and 1 3\¢
(2) 3and 1 o (4) —3and -1 — 10
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10 When (2x — 3)2 is subtracted from 522, the result is
(1) 2 -12¢—9
@2) 22-12%+9 (4) 22+ 12+ 9
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34. The sum of two numbers, x and vy, is more than 8. When you
double x and add.it to y, the sum is less than 14.
X +Y :

Graph the inequalities that represent this scenario on the set of
axes below. l;l, ry > &
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